
uG- -Qumg play opgD UG-- Spaplsay 

Part-B -General Studies and Part-C- Aptitude and 
Mental Ability 

lT`s�T :101-200 

Questions :101-200 

(a) Chloroform 
101. Match the following and choose the correct option : 

(b) Phosgene 
(c) Tear gas 
(d) Mustard gas. 

(A) 3 4 
(a) (b) (c) 

(B) 1 

(C) 3 
(D) 4 
(E) 

(a) GarrGgmumtD 
(b) umvgr 

(A) 3 

(d) sG GJIT 

(B) 1 

(E) 

4 

(C) 3 

4 

Answer not known 

(a) (b) 

(D) 4 

3 
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(d) 
1 
2 
2 
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1. 

2. 

3. 

4. 

(d) 
1 

2 
2 
2 

CHCl3 

CCl; NO2 
CICH-S-CH,C1 

COCl2 

CCl; NO2 

Qomis DfUQITE5 T : 150 

CHCl3 

Total Marks : 150 

CIC,H4-S-CzH,Cl 

COCl, 
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0. Which of the following statements are true about the Nordics? 

9Indo-Aryans are the last immigirants into India. 
(ii) This group was the next to come.to India after the Negritos. 

(m) This group have come into India between 2000 and 1500 BC 

(A) ) only 

(B) ) and (ii) only 
(C) ) and (i1) only 
(D) (m) and (iii) only 
(E) 

) 

Answer not known 

(111) bBô (G9 2000 LDÓgILb 1500 BC 

(A) ) DGD 

(B) () DDgD (iii) DLQD 
(C) ) LDDgILD (ii) oLQ 
(D) () DDgo (1ii) DLQU 
(E) aflaDL Qsfluafl d 
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03 Which of the statement(s) is/are correct? 

) 

(ii) His achievements are not described in the Managhat 

inscription. 

(ii) His name was inscribed on one of the gateways of Sanchi 

stupa and referred to as "Lord of Dakshinpatha", 

(A) (ii) only 

(B) (i) and (ii) only 

Satakarni was First Satavahana King and not the powerful 
Satavahana ruler. 

(C) ) only 

(D) 

i) 

(E) Answer not known 

(ii) 

) and (i) only 

(ii) smGJ¾ 

ETGOUT560T luTaTt y. 

(A) (ii) LD=GLD 

(D) 

(B) (i) DDpb (11i) DLQD 

(E) 

(C) i) LD=QD 

(i) DDDD (1) DLQD 
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104. Which among the following statement(s) is/are true about Indian 
National Congress? 
) The Father of Indian National Congress is A.0. Hume. 

(i) The first President of Indian National Congress was 

(m) S.N. Banerjee founded Indian National Liberation Federation 

(A) ) only 

S.N. Banerjee. 

(B) ) and (ii) only 
(C) ) and (ii) only 
(D) (1) and (ii) only 
(E) 

) 

Answer not known 

(B) 

(Gii) S.NunGr Absu G5Elu al05 NLDieDu Bsileatrt. 
(A) () DLQD 

) wggD (iii) DL Q 

(C) ) DDgLb (11) oLQub 
(D) (ii) LodgD (ii) oLQu 
(E) loL Qsfluleb an a 
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s06. Incorporation of Fundamental Duties to the Constitution of India 

was done by 

(A) 

(B) 

(D) 

(C) 44th Constitutional Amendment Act 1978 

(E) 

(A) 

42nd Constitutional Amendment Act 1976 

(B) 

43rà Constitutional Amendment Act 1977 

45th Constitutional Amendment Act 1980 

Answer not known 

42-aug AJAlwNDDÜLS f6$5D 1976 

43-aug AJlwNNDÜLG 5S5D 1977 

(O) 44-u5 AJÉlunDÜys (GiSLD 1978 

(D) 45-Qug AJwwnDÜa GHSD 1980 

(E) lDL Q5fluoláen a 
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106. Which of the following are true about Tamil Nadu Panchayata Act, 1994? 

) 

(i) 

(ii) Chapter XIÍ deals with Penalties. 

Chapter II of this Act deals with Gram Sabha. 

(A) ) only 

Chapter VII deals with Taxation and Finance. 

(B) ) and (ii) only 
(C) ) and (ii) only 
(D) (ii) and (iii) only 
(E) 

(i) 

Ep�ssorL 51Br SSTW`50ST sL b, 1994 QsTLfrumGTOIFI�T sflunarg 

(ii) 

6T6)? 

Answer not known 

(A) () DLQu 

(E) 

(B) ) DDDD (ii1) DL Go 

(D) (i) DDgb (iii) DLG 

CCSE2-2AT2025 48 
V 

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


) NIl! 

() Conlvnl bnlorothon Cmmissbm 

() Clnl Viyilo Comssion 

(4) Connl Buroaof hvasligntion 

(A) (2) nnd () only 

(B) () nnd (2) only 

() (8) nnd (4) only 
(D) (2) nnd (4) only 
(0) AnAWOr not known 

(1) Gysdlus inflg pflooST ,6N 6TLJD 

(2) 

(3) 

(4) 

(A) (2) ndb (3) iDLGb 

(3) (1) Dbpb (2) DLQD 

() (3) Dbpub (4) DLQb 

(D) (2) nbgb (4) oQb 
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108. Tamil Nadu Govermment celebrated April 29 to May 5 to mark Birth 

anniversary of 

(A) Pavendar Bharathidasan 

(B) Perunthalaivar Kamarajar 

(C) Pasumpon Muthu Ramalinganar 

(D) Peraringar Anna 

(E) Answer not known 

(A) unGabst ungsnsdT 

(B) QuGHsONAJt smoJngi 

(C) uDQUTGI (PHIJTLDl aJsGITt 

(E), GoL asflwolána 
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00 Which is/are the key feature/s of the Women's Reservation Bill 
Dassed by the Lok Sabha on 20th Sept. 2023? 

) 

(1) 

(iv) 

Gii) Reservation to be provided for 25 years. 

(A) 

(B) 

(C) 
(D) 
(E) 

1) 

(ii) 

The Bill reserves 33% of all seats for women in Lok Sabha and 
State Legislative Assemblies. 

(A) 

It will.not apply to the seats reserved for SC/ST in Lok Sabha 

and State Legislatures. 

(C) 

To be effective after delimitation exercise. 

) and (ii) only 

QenLLDLut 20, 2023 AOTDI LOHBATGD6uua lnpGoubpDoULL 

(E) 

(i) and (iv) only 

(ii) and (iii) only 
() and (i) only 
Answer not known 

(i11) 25 ÓT Gs(@;S(E5 L P5I`O upsLGID. 

LD`SOT60)O 

9NTH5 QL`ssflgb GuTS(OH(G 33% P5`GAD5. 

(B) (1) oDgD (ív) DLGD 

() oÓgLo (ii) DLGb 

(D) ) LDDDD (iii) DLQo oLGb 
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110. Choose the right matches: 
(1) NHS 

(2) 

(3) 

CBHI 

PHC 

(4) NRHM 

(A) (1) and (3) are correct 

(1) NHS 

- National Health Service 

(B) (1) and (2) are correct 

(2) CBHI 

Central Bureau of Health Insurance 

(C) (2) and (3) are correct 

(3) PHC 

Primary Health Center 

(D) (3) and (4) are correct 
(E) Answer not known 

(4) NRHM 

National Real Health Mission 

(A) (1) DDgo (3) sfluna GD G! 

CCSE2-2AT/2025 

(B) (1) LDÔgILD (2) sfluneren GJ 
(C) (2) LDÓgD (3) siluraT 6N SU 

(D) (3) oÓgs (4) sflusmaraDAL 
(E) lenL asflusldb en a 
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111. Assertion [A]: Quality of life of people living in rural areas of 

Reason R]: 

(C) 

(A) [A| is true and [R] is false 

(B) Both A] and R] are true; and [R] is the correct explanation 

(A) 

of [A] 

(D) Both A and R] are true but [R] is not the correct explanation 

anDp [A] : 

(B) 

5TJ630TLD R]: 

(C) 

(E) Answer not known 

(D) 

Tamil Nadu has improved 

(E) 

The Tamil Nadu state has introduced a flagship 

[A] is false; R] is true 

programme called Tamilnadu Village. Habitations 

Improvement Scheme. 

of JA] is correct 

oloés� 

CCSE2-2ATI2025 53 

LDBBaflcT 

[Turn over 

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


112. Match the following with the schemes 

(a) 

(b) Pasumai Veedugal Thittam 

(c) 

Mathi Bazar 

(d) Aajeevika 

Naan Mudalvan 

(a) 
(A) 3 1 

(B) 4 

(C) 1 

(D) 4 

(b) 

(c) 

(a) n ugnt. 

(b) (c) 

(A) 3 

(B) 4 

1 

(E) Answer not known 

(d) olsm 

(C) 1 

3 

(a) (b) 

(D) 4 

3 
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1 

1 

2 

3 

2 

2 

1 

(c) 
2 

2 

2 

1 

(E) 6eoL QgfluuGláen a 

(d) 
4 

3 

4 

2 

(d) 
4 

3 

4 

2 

54 

1 

2 

Clean energy 

3. Poverty Eradication 

1 

Skill development 

4. SHG 

4 

2. per GuoLDumG 
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113. Which of the following statements are true about Micro, Small and 

Medium Enterprises (MSMEs) in Tamil Nadu? 

) 

(ii) 

(iii) 

(A) 

(B) 

(C) 

(D) 

(E) 

) 

(i) 

Tamil Nadu ranks third in the country in Udyam 
Registrations. 

30% of the state's entrepreneurs are women. 

Coimbatore has the most number of MSMEs in the state. 

() only 

(E) 

(ii) and (ii) only 

i) and (ii) only 

) and (iii) only 

Answer not known 

LDTflssdt 30% QsmapnerGaunt QuTS0T. 

(A) ) oLQD 

(B) (i) LoDgD (11i) DLGGD 

(C) ) wggLb (11) oLQGo 

(D) ) DDgb (i) DLQGu 

L agflwolána 
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114. Which of the following statement(s) is/are true 
building? 
) 

(11) Marshall writes "Hauz-i-khas is one of the most treasured 
(ii) "Percy Brown remarks" the entrance gateway of the mosque of Alauddin Khilji ocCupies a key position in the evolution of 

(D) 

(A) 1) only 

(E) 

(B) ) and (ii) only 

) 

(C) ) and (iii) only () 

(ü) 

K.S. Lal observes that with the enthronement of Alauddin Khilji, a new era was ushered in architecture in the Hindu Muslim style 

(A) 
(B) 

gems of Islamic architecture. 

(C) 

Islamic architecture in India. 

(E) 

() and (ii) only 
Answer not known 

) DLQD 
() LDDDD (1) D QD 

) LoDpD (iii) LDL Q 
(D) (1) oDgb (iii) DLGD 

about Khii 

enL Gsfluclcb en a) 
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115. Arrange the following events in chronological order. 

(1) Civil disobedience movement 

(2) Sepoy Mutiny 

(3) Vellore Mutiny 

(4) South Indian Rebellion 

(A) (2), (3), (1), (4) 

(B) (1), (2), (4), (3) 

(C) (4), (2), (3), (1) 

D) (4), (3), (2), (1) 

(E) 

(1) 

(2) 

Answer not known 

(3) Gagri 6)SD 

(4) Qsoirafl bfuý yJLA 

(A) (2), (3), (1), (4) 

(B) (1), (2), (4), (3) 
(C) (4), (2), (3), (1) 

(D) (4), (3), (2), (1) 
(E) 
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Il6. Match correctly the books and the Author name : 

(a) Thirukkural Uraivalam 

(b) Thirukkural nunporul malai 

(d) Vazhum Valluvam 
(c) Thirukkural Araichi pathippu 3. Karirathina Kaviraar 

4. Thandapani Thesigar 

(A) 4 

(B) 1 

(a) (b) 

(C) 4 

(D) 

(a) 

(b) 

1 

3 

2 

2 

(E) Answer not known 

(C) 4 

3 

(D) 1 

(a) (b) 

(A) 4 3 

(GDÁT RjauarLD 

(d) aumgib JÁT(GBauD 

(B) 1 2 

CCSE2-2AT/2025 

(c) 

3 

4 

hGDåT FaNraIm(GT LDTGNa) 

2 

(c) 
2 

3 

1 

4 

(E) lenL Gsflueláoa 

3 

2 

(a) 

4 

3 

2 
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1. Va.Se. Kulanthai Samy 
2. Ki.Va. Jeganathan 

1.o).Qe. 

2. A.QT. GgabsTHI 

4. 

3. sflyslori 5olyrut 
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117. Arranging the chronological orderlevent type. Arrange the major 

Pallava Kings. 

1. Simhavishnu 

2. Mahendravarman I 

3. Narasimhavarman I 

4. Rajasimha 

(A) 1, 2, 3, 4 

(B) 3, 1, 2, 4 

(C) 4, 2, 3, 1 

(D) 2, 4, 1, 3 

(E) Answer not known 

1. 

2. DGsbfyautDdTI 

3. BJbLDeJ0D�T I 

4. JgâlbDT 

(A) 1, 2, 3, 4 

(B) 3, 1, 2, 4 

(C) 4, 2, 3, 1 

(D) 2, 4, 1, 3 

(E) lL Q5fluiábn 

CCSE2-2AT/2025 
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118. Who was the female poet who gave focused on heroism in the Tami, 
Society of Sangam Era as Thondruvan Matho Porkalathane? 
(A) Okkur Masathiar 
(C) 

(E) Answer not known 

Velliveethiar 

(A) asit LDTETB$uTt 

(E) 

(A) 1 day 

(C) 3 days 

119. 3 men or 4 wonmen or 12 boys can complete a work in one day. In how many days a man, a woman and 5 boys together can complete that work? 

(E) Answer not known 

(A) 

(C) 3 5T= 6�T 

COSE2-2AT/2025 

(B) Kaval Pendu 
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(D) Avvaiyar 

(B) 5m6Já) QIoT( 

(B) 2 days 
(D) 4 days 

(B) 2 BTL 50T 
(D) 4 BTL 5T 
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for Mathematics, Physics and Biology 120. Seats for in a school are in the 

ratio 5 : 7:8. There is a proposal to increase these seats by 40%, 

50% and 75% respectively. What will be the ratio of increased seats? 

(A) 2:3:4 

(B) 6:7:8 

(C) 6:8:9 

(D) None of the above 

(E) Answer not known 

40%, 50% oÖD 75% 2utsgaSÖGNGT GBDlpap GupuuLQiTargI Gredflêd 

(A) 2:3:4 

(B) 6:7:8 

(C) 6:8:9 

(D) GogbsTL TEIalan 

(E) L Qgflusl áb en a 
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121. The cost of 15 kg of sugar is Rs. 255, the cost of 17 kg of tea is 
Rs. 1,615 and the cost of 22 kg of rice is Rs. 572. W hat is the total 
cost of 18 kg of sugar, 21 kg of tea and 27 kg of rice? 

(A) Rs. 2,442 

(C) Rs. 3,003 

(E) Answer not known 

22 ).£ lAu 

LODgD 27 .all 

15 &.á siasDJLl ei floN . 255, 17 A.a eagIát olen . 1,615 DDDLD 
Glo h. 572 6r6silao 18 6l.6 sitasDIJ, 21 .a ie�51Gr 

(A) 5. 2,442 

(C) 5. 3,003 
(E) afloOL Qgfluefleb ena 

(A) reduced by 1% 
(C) reduced by 2% 

(E) Answer not known 

(A) 1% (8,0pADs) 

(C) 2% (6,Dlps 

(B) Rs. 3,923 

uoubplo Qong5 ln GTGMT GT ? 

122. The income of a person is increased by 10% and then decreased by 
10%. Find the change in his income in percentage. 

(D) Rs. 2,932 

(E) ln QsfluGflána 
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(B) G. 3,923 

95 BuMT GN(HLDTGNILù 10% 2uBSÜULO p6 10% (5oopåsÜLQsps 

(D) 5. 2,932 

(B) increased by 1% 

(D) increased by 2% 

(B) 1% Qâipg 
(D) 2% n06ipg 
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123. Ravi ranks 9th in a class of 45 students. There are 18 students below 

Raj Rankwise. How many students are there between Ravi and Raj 

rankwise? 

(A) 27 

(B) 17 

(C) 18 

(D) 19 

(E) Answer not known 

18 LDTOOTGJ ÍTSG0T 5J� Gu�gaTanaT 0. Jabl Logo Jg(G LnULL 5JLo 

(A) 27. 

(B) 17 

(C) 18 

(D) 19 

(E) leOL Qflwalcoena 
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124. If DANGER is coded as 10-7-20-13-11-24, then the code of 

MACHINE in the same code is 

(A) 13-7-20-9-11-25-15 

(B) 13-7-20-10-11-25-15 

(C) 19-7-9-15-14-11-20 

(D) 19-7-9-14-15-20-11 

(E) Answer not known 

DANGER GT LJSI 10-7-20-13-11-24 GrIT (luLÜLLG(GBBT), Go 

(A) 13-7-20-9-11-25-15 

(B) 13-7-20-10-11-25-15 

(C) 19-7-9-15-14-11-20 

(D) 19-7-9-14-15-20-11 

(E) laL Qgiluelábne) 
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125, Carbon serves for the following purpose/purposes in living 

organisms : 

(1) 

(2) 

(3) 

(A) 

(C) 

(E) 

(1) 

(2) 

(3 

(A) 

(C) 

(E) 

It's a structural component of organic molecule. 

Helps to bind with other molecules. 

Gives flexibility to the form and function of Biomolecules such 

as DNA and RNA. 

(1) alone 

(3) alone 

Answer not known 

(1) DLQó sfl 

(3) DLGb sfl 
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(B) (2) alone 

(D) (1), (2) and (3) 

(B) (2) DL QD sfl 

(D) (1), (2) oDDo (3) 
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126. Which of the following statements are true? 

Essential properties of Magnetic Materials to be an Electromagnet. 
I. 

II. 

III. High coercivity 

IV. Low retentivity 

Narrow hysteresis loop 

(A) Ialone correct 

High permeability 

(B) Both II and IIl are correct 
(C) II, II and IV are cOrrect 
(D) I, II and IV are correct 
(E) Answer not known 

I 

IGTLJ56T. 

II. 

IV. 

(A) I DL Qo sfl 

(B) II LoDMD III sfl 

(C) II, II oDpb IV sfl 

(E) 

(D) I, II LoDgD IV sfl 
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127. Consider the statements about the soil and choose the right answer : 

(1) 

(2) 

(B) 

(3) The soil derived from deccan trap is fertile and has high 

(C) 

(A) (1) is truelcorrect 

The soils of northern plains are 
Himalayan Rivers. 

(1) 

The presence of Iron Oxide is more in a soil popularly known 
as black soil, 

(2) 

moisture holding capacity. 

(3) 

D) (1) and (2) are correct 

(1) and(3) are correct 

(E) Answer not known 

(2) and (3) are correct 

JlqJOGJ`5ÜUGp5. 

(A) (1) LDLQb sflunarg 

(B) (1) DDD (3) 5flunog 
(C) (2) LDDDID (3) sflunarg 

(D) (1) DDDb (2) sflunrgi 
(E) GloL QglualbnaN 

largely deposited by 
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128. Choose the right matches among type: 

(1) Permanent Settlement 

(2) 

(3) Ryotwari System 

(4) Network of Railways 

Partition of Bengal 

(A) (1) and (3) are correct 

(B) (1) and (2) are correct 

(C) (2) and (3) are correct 
(D) (3) and (4) are correct 

(E) 

(2) 

(1) yB5T Blwaufls iLo 

(3) 

Answer not known 

sflunso aumGBfuararGns$ GstbsGe : 

(4) ÜLÚUTONG naTÚILY 

(A) (1) oÓgÓ (3) sfi 

(B) (1) oDgs (2) sil 

(C) (2) DDgID (3) si 

(E) 

(D) (3) DDDID (4) sfl 
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129. Arrange the following in chronological order: 

(1) 

(2) Formation of Indian National Army 

(3) 

The Indian National Army Trial 

The Royal Indian Air Force 

(4) C. Rajagopalachari's Formula 

(A) (4), (2), (1), (3) 

(B) (2), (1), (3), (4) 

(C) (3), (2), (4), (1) 

(D) (1), (2), (3), (4) 

(E) Answer not known 

sflumear 56JQ0flnFUlá) )LDBS Q5 : 

(1) b£u Gsu rgmyaD LBSTOT Glsmyen aT 

(2) b£u Gsfu QmgaJb GsmÖDIslssÜu05á) 

(4) 

(8) musáo blu eDnTÜUGOL 

(A) (4), (2), (1), (3) 

(B) (2), (1), (3), (4) 

(C) (3), (2), (4), (1) 

(D) (1), (2), (3), (4) 

(E) oL Qgflueláen a 
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130. Chose the true statement(s) about the Fundamental Duties : 

(1) To protect the Sovereignty, Unity and Integrity of India. 

(2) To protect and improve the Natural Environment. 

(3) To preserve the rich heritage of our composite culture. 

(4) To safeguard private property, 
(A) 

(B) 

(C) 

(D) 

(E) 

(1) 

(2) 

(3) 

(4) 

(A) 

(B) 

(1) and (2) only 

(2) and (3) only 

(1), (2) and (3) only 

(2), (3) and (4) only 
Answer not known 

UTgISTÜUg. 

BDPENLw UmJDUflurssnaTuqD, J�Tpsn JGTImL6DLUqb UngISTÜLug. 

(1) DÓgb (2) LDLGb 

(2) DÖgID (3) iDLGb 

(C) (1), (2) oÓgD (3) DL Go 
(D) (2), (3) LoÕgIÓ (4) D=Gu 
(E) flnL Qsilublána 
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131. Identify the correct order of the table of Precedence 

(A) Ministers of State of the Union, Chief Ministers of States, 
Speaker of the Lok Sabha, Vice-President 

(B) Vice-President, Speaker of the Lok Sabha, Chief Ministers of 
States, Ministers of State of the Union 

(C) Vice-President, Ministers of State of the Union, Speaker of the 

Lok Sabha, Chief Ministers of States 

(D) Vice-President, Speaker of the Lok Sabha, Ministers of State 

of the Union, Chief Ministers of States 

(E) Answer not known 

(pT6D tlD LLQJ) 600T 

(A) Dsu gJeTT`IS0EciT naOT 9LD`s0H0T, LDmße (psNDLDÈStsar, 

(B) 50680T gnu, LDGGATGNJ EUTGITLJS0d, LDITßla psNDLD`S0B0T, LD`S 

(C) 5G0 OT 

auflansul6TLII4 sflurT ouflans 

LDGSOT606J FITBITJB, LDmbla 6VGOLI`F0satr 

yDD0S0tsGT, LDTBl 

(E) L Q5fluoán 
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132. Read the following passage and answer the itenms that follow 
Your answer to this item should be based on the passage only. 

A nation or society without the participation of women cannot 
achieve development. If we eliminate gender discrimination 
will deliver all the potentials. Knowledge to develop the family the 
nation and the world. As former UN Secretary General Kofi Annan 
has stated � Gender eguality is, more than a goal in itself. It is pre 
condition for meeting the challenges of reducing poverty, promoting 
sustainable development and building good governance. 
(A) Steps to be taken to ensure Women Education 

(B) 
(C) 

(D) Need for the employment Generation Programmes for Women (E) Answer not known 

`ipasarL 

Importance has to be given to reduce gender discrimination 
Strong mèasures have to be taken to stóp Sexual Harassment of Women 

(B) 

(A) GuGoT Á)GlGn D QeisDSTGT BLGUgaonEHG0T BLomsTGTGITLILUL 

(D) 

(E) 
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198. Consider the statements on the national co-operative development 
corporation (NCDC) and choose the correct answer 

(1) 

(2) 

(3) 

(A) 

(B) 

(4) Operating under the administrative control of ministry of 
agriculture and farmer welfare 

(1) 

It is a statutory corporation 

(C) (1) and (4) only 

(2) 

It is an autonomous organization 

(D) (2) and (4) only 

(3) 

Now it is a public financial institution 

(E) Answer not known 

(4) 

Gslu L Gpay GLDLDITL psD (NCDC) ubglu bgsaflá sflunar 

(2) and (3) only 

(B) 

(1) and (3) only 

(E) 

(A) (2) oDpo (3) LD=Gb 

CoJaTTGôT 

(1) oÓDD (3) DLGD 

(O) (1) LoDDÓ (4) DLQD 
(D) (2) oDpo (4) LoLGLb 
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134. Match correctly the systems/ideologies with their corresponding 
names: 

(a) Report of Ryotwari System 
(b) Panchamer Schools as 

Adidravida Schools 

(c) Leader fought against 
Patriarchal Chauvinism 

(a) Theory of Justice 

(a) (b) (c) 
(A) 2 4 

(B) 2 
(C) 2 
(D) 2 

3 

1 

sflums GunGIS5 : 

4 

(a) 
(A) 2 

(d) B Gsm=UT 

(E) Answer not known 

(b) 

(B) 2 3 

CCSE2-2AT/2025 

3 

(C) 2 1 

1 

(a) gugaurfl L aplsns 

(D) 2 4 

4 

(b) uÆsD0 UGIGflsnat symalt 
weTafl5T GTGOT 

1 

(c) 
3 

(d) 

1 

1 

1 

(E) GlOL QgfluGlin 

4 

3 

Opig 

(d) 
1 

4 

3 

3 

74 

1. Thanthai Periyar 
2. Thomas Munro and 

Francis Ellis 
3. John Rawls 

4. Ayothidasar and 
Singaravelar 

1. sbng Quflunt 
2. 

3. 

4. Gum$l5Tsd LDÔgID 
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185. The initative to eliminate open defecation in India and improve solid 

waste management through the 'Swachh Bharat mission', leads to 

(A) Decline in poverty rates 

(B) 

(C) Improve public health and foster a culture of cleanliness 

(D) Inadequate infrastructure 

(E) Answer not known 

(A) 

(B) 

Improve employment opportunities 

(C) 

(D) 

(E) 
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136. Which of the following is incorrectly paired in rural-urban 
migration? 

(1) 

(2) Rural to urban migration 
(3) Urban to urban migration 

(4) 

Rural to rural migration 

(A) (1) and (4) 

(B) (1) and (2) 

(D) 
(C) (2) and (3) 

Urban to rural migration 

(1) 

(E) Answer not known 

(3) 

(3) and (4) 

(2) TD`felGÞS BSJ`SDG 
QLD Quutay 

(4) 551ÉglGbE 6lymiDBÉ DG 

(A) (1) LobgD (4) 

(E) 

(B) (1) obgo (2) 
(C) (2) DDgD (3) 
(D) (3) oDgLb (4) 
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197. Assertion |A|: Migration is the movement of people across regions 

Reason [R]: Migration can be external or international. 

and territories. 

(A) [A] is true but [R] is false 

(B) [A is false and [R] is true 

(C) Both [A] and R are true 

(D) Both [A] and [R] are false 

(E) Answer not known 

STJ68OT D [R: 
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138. Which of the following are correctly paired? 

(1) Kurinji 

(2) Mullai 

(3) Marudam 

(4) Nevdal 

(5) Palai 

(A) (1), (2), (3), (4), (5) 

(B) (2), (3), (4) 

(C) (3), (4), (5) 

D) (1), (2), (5) 

(E) 

(1) 55êl 

Answer not known 

(2) páaD) 

(3) D(GD 

(4) apig) 

(5) 

(A) (1), (2), (3), (4), (5) 

(B) (2), (3), (4) 
(C) (3), (4), (5) 

(D) (1), (2), (5) 

(E) 
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139. Read the following assertion and reason and select the correct 

answer from the code given below. 

Assertion [A]: In 1801 the British attacked Sivagangai with a 

Reason R]: 

(A) 

(B) 

[A] is true but [R] is false 

(C) Both [A] and R] are true and [R] is the correct explanation 

of [A] 

powerful army. 

A] is false but R] is true 

(D) Both [A] and R] are true but [RI is not a correct explanation 

of [A] 

mDp [A]: 

(B) 

In 1801 the Marudhu brother Chinna Marudhu 

gave asylum to Oomaidurai. 

(E). Answer not known 

6ITJ6T LD R]: 

(E) 
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140. Thirukkural is a compilation of the sublime, pure human thoughts 

according to M. Ariel - Based on this saying who has referred the 

Thirukkural as the Tamil's sacred book 

(A) Mahatma Gandhi 

(B) Arignar Anna 

(C) M. Varatharajan 

(D) G.U. Pope 

(E) Answer not known 

(A) DEn#LDIT STBfuqs6t 

(B) pG5iT GNT G80T IT 

(C) . GJJSJITeGIT 

(D) s. Gumo 

(E) lDL Qsflwcslána 
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141. To arrange Valluvar's statement about Sageness 

(1) Modesty 

(2) Truth 

(3) 

(4) Obligation 

(5) 

(A) (4), (3), (2), (5), (1) 
(B) (5), (4), (3), (2), (1) 
(C) (1), (2), (3), (4), (5). 

Love 

(D) (3), (1), (4), (5), (2) 

(1) 

(E) Answer not known 

(2) 

Complaisance 

(3) 

(4) 

(5) 

5ITG00T LD 

(A). (4), (3), (2), (5), (1) 
(B) (5), (4), (3), (2), (1) 

(E) 

(C) (1), (2), (3), (4), (5) 
(D) (3), (1), (4), (5), (2) 

GlLsflwlóGn) 
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142. "Iruppu Mugam Seriththa Aenthelil Maruppin"- Identify the figure 

of speech used in the above line 

(A) Simile 

(B) Metaphor 

(C) Personification 

(D) Irony 

(E) 

(A) 

(B) 

Answer not known 

(C) sDGDUGugp Aafl 

(D) Gau�gIGDLD HOil 

(E) Gfle Qfluaildon a 
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143. A, B and C can separately do a work in 12, 15 and 20 days 

respectively. They started to work together but C left after 2 days. 
Then A and B will finish the remaining work in 

(A) 4 

(C) 

(E) 

A, B oDpLb CGunt sailbgeril uns g GoJsnwcnu GpeopGu 1Z pmL56T, 
15 pTLsGT DDJD 20 pmLsalá. Qsulcnpent. guGung parg GuGD 

(A) 4 

(E) 

pTL5afl Q Gainw6 oGGspri GTGfl á), A-D, B-� LB(pGTAT GanDU 
BTLSafld) (lgnut. 

(C) 6 

6 
Answer not known 

(A) 

of the park 

(C) 
(E) 

144. A square park is surrounded by a path of uniform width 2 metre all 
around it. The area of the path is 288 sq. metres. Find the perimeter 

(A) 
(C) 

124 m 

100 m 

Answer not known 

124 L8 

100 8 

(B) 5 
(D) 15 

(E) fleL QgfluefldnN 
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145. A man spends Rs. 500 in buying 12 tables and chairs. The cost of one 
table is Rs. 50 and that of one chair is Rs. 40. What is the ratio of 
the numbers of the chairs and tables purchased? 

(A) 5:1 

(C) 10 :5 

(E) Answer not known 

5TGÖOT 5. 

PG Dalst G. 500 &G, 12 GonS5�T DDDD BTDEmalGdr auriGAprt. PG 
GiDnsul6r cflen 5. 50b, gG BTDSnllc Aln . 40 6(Gib QUT`I(Glprt 

(A) 5:1 

(C) 10:5 

(E) 

(A) 1350 

(C) 2550 

(E) Answer not known 

146. If LCM of 'a and "a +2" is 1300. Find the LCM of "a and a +1. 

(A) 1350 

(C) 2550 

(B) 2: 10 

(E) 

(D) 9:3 
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a wbgb a+2 aubpá B.Qum,DL`E 1300 Grafla a oopD at! 

(D) 9:3 

(B) 2600 

(D), 2700 

(B) 2600 

(D) 2700 
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147. If 

(A) 

(C) 

(E) 

(A) 

b 5 

(C) 

(E) 

(C) 

b 

(E) 

4 

(A) 
(B) 

4 

1 

(C) 

7 

3 

(E) 

4 

1 

7 

3 

and 

4 

b 

Answer not known 

C 

15 

16 

(A) neither divisible by 3 nor by 11 

(B) divisible by 11 but not by 3 

b 15 

then 

C 16 

(D) divisible by both 3 and 11 

CCSE2-2ATI2025 

2+a 

divisible by 3 but not by 11 

Answer not known 

148. The number 311 311 311 311 311 311 311 is 

(B) 

(D) 

(B) 

85 

(D) 

() 3 LoÖDD 1l Bfuorl aJGUD 

7 

25 

25 

311 311 311 311 311 311 311 GT6oTD GT GÒÜT GOT G 

7 

7 

25 

25 

7 
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149. In a dice if 1 is opposite to 4 and 2 is opposite to 5, then 

(A) 3 is adjacent to 4 and 6 

(B) 3 is adjacent to 5 and 6 

(C) 2 is adjacent to 3 and 6 

(D) 1is adjacent to 4 and 6 

(E) Answer not known 

(B). 3 yng 5 oDpb Gi6 AG Gs 2 �rGGI 

(E) GoL QsfluJSlobana) 
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150. Modern man originated in which period and epoch of Geological 

Time scale : 

) 

(ii) Tertiary 

(ii) Tertiary 

(4) 

(iv) Tertiary 

) 

Period 

(C) (ii) is corrèct 

(i1) 

Tertiary 

(iv) 

(A) 

(C) 

(i) is correct 

(E) 

(E) Answer not known 

(iii) QLAaflutl 

QLioGlufl 

QLtaufl 

(i) sfluGTGN OJ 

(i1i) sfluwTOIGN AJ 

Epoch 

CCSE2-2ATI2025 

Paleocene 

Pliocene 

Oligocene 

Miocene 
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(B) (i) is correct 

(D) (iv) is correct 

(B) (i) stflunerna 

(D) (iv) sflurmnal 
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l51. Which of the following statements are correct in the context of 
carbon monoxide emissions? 

(1) Its mainly due to incomplete combustion of fuel. 

(2) They are more evident in petrol engine. 

(3) Long term exposure can cause nausea. 

(A) (1) and (2) only 

(B) (2) and (3) only 

(C) (1), (2) and (3). 

(D) (1) and (3) 

(E) Answer not known 

(1) 

(2) 

(3) TL GBT 2Ôpalrmá (DLLÓ DUsb. 

(A) (1) oDgD (2) Qo 

(B) (2) oÝgb (3) LDLGLD 

(C) (1), (2) 1DÕDD (3) 

(D) (1) LobgD (3) 

(E) clDL asflwalcbna 
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152. Choose the right statement(s) about Malwa Plateau : 

(1) 

(2) The plateau region is mostly drained by chambal and its 

tributary rivers. 

(3) 

(A) (1) is correct 

lt has an average altitude of 600 m and slopes towards the 

east. 

(B) (1) and (3) are correct 

(C) (2) and (3) are correct 

(1) 

The Malwa plateau is located in Rajastan, Gujarat and 
Madhya Pradesh. 

(D) (1) and (2) are correct 

(E) 

(3) 

(D) 

Answer not known 

(A) (1) DLQD sfunarg 

(E) 

BJTsflumS 600 BLd 2UJ�SLG�T ps Gpri) sflbgaTGTGI. 

(B) (1) LoDDID (3) sflurananGJ 

(C) (2) oDDD (3) sflunaraDAJ 

(1) DÓMLD (2) sfluTGTN AJ 

elenL Qflualna 

CCSE2-2ATI2025 
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153. Reason and Assertion: 
Assertion [A]: Besides being a political Leader, Gopal Krishna 

Gokhale was a great Social Reformer. 
Reason [R] 

(A) [A] is true but [R] is false 
(C) Both [A] and [R] are true 
(E) Answer not known 

5mJ68TD R] 

(E) sle Qfilusldena 

(1) 
154. Arrange the events in chronological order : 

(2) 
(3) 
(4) 

(A) 
(C) 
(E) 

(1) 
(2) 

He was one of the founders of the distinguished 
organisation known as "The Servants of India 
Society". 

(3) 
(4) 

Communal Award 
Gandhi Irwin Pact 

Chittagong outburst 
Poona Pact 

(1), (2), (3), (4) 
(3), (2), (1), (4) 
Answer not known 

(A) (1), (2), (3), (4) 
(C) (3), (2), (1), (4) 
(E) flnL Qgflwalcb en a 

CCSE2-2AT/2025 

(B) [A] is false but [R] is true 
(D) Both [A] and (R] are false 
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(B) (2), (3), (4), (1) 
(D) (4), (3), (2), (1) 

(B) (2), (3), (4), (1) 
(D) (4), (3), (2), (1) 
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155. Consider the following pairs : 

(1) Bodhgaya 
Khajuraho (2) 

(3) 
(4) 
(5) 

(B) 
(C) 
(D) 

(A) (1), (2) and (4) only 

(E) 

(1) 

(2) 

(3) 

(4) 

Famous Place 

Which of the pairs given above are correctly matched? 

(5) 

(A) 

Shirdi 

(B) 

Nasik 

Tirupathi 

(2), (3), (4). and (5) only 
(2) and (5) only 
(1), (3), (4) and (5) only 
Answer not known 

Region 
Baghelkhand 

(C) (2) oDDLD (5) DLQLD sfil 

Bundelkhand 
Vidarbha 

CCSE2-2AT/2025 

Malwa 

Rayalaseema 

(1), (2) LDDDD (4) DLQÚ sfl 

LOTGDOUT 

(2), (3), (4) LoDDILD (5) LDLLGD sfl 

(D) (1), (3), (4) oopb (5) LDLGD sfl 

(E) 6lL Osfwsl6naU 

91 

Turn over 

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


156. Identify the statement that is not correct with regard to President of 

India. 

(A) President can resign from his office at any time 

(B) President cannot hold office beyond his term of five years 

(C) President can be removed from his office by an impeachment 

procesSs 

(D) No President of India has so far been impeached 

(E) Answer not known. 

90UITGTLD T680T5. 

(C) (6Dp`ST O (mpeachment) Gurulmsi (GquJH 5ONAJGDJÜ UBal 

(D) 5 

(E) 
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157 Matoh List I with List II and select the correct answer by using the 
codes given below the list 

List I 

Articles 

(a) Art 280 

(b) Art 263 
(c) Art 262 

(d) Art 279 A 

(a) 
(A) 4 

(B) 4 
(C) 3 
(D) 1 

(b) 
3 

1 

ULGwd I 

4 

(A) 4 

4 

(B) 4 
(C) 3 

(a) LLúAla 280 

CCSE2-2AT/2025 

(c) 

(b) sLLÜLlla 263 

2 

(c) LLnL9la 262 

2 

(E) Answer not known 

(d) sLLÜLlla 279 A 

1 

(a) (b) (c) 

1 

3 

4 

(D) 1 4 

2 

1 

3 

(E) flL Q5flualkben 

1. 

2. 
3. 
4. 

(d) 
1 

3 

2 

2 

3. 
4. 

(d) 
1 

List II 

1. omßlar`JG(GT5, ̀ fleoLLIlnt GY 

2 

Councils 

2. omßad5(GH0flaNLulonar bBit sajrg 

2 

Inter-State Council 

Inter-State Water Dispute Tribunal 

Goods and Services Tax Council 

Finance Commission 

Qur(GL50T DDDb Gsma auflå (s 

669 
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158. Match the following : 

(a) Tamilnadu Consumer Protection Act 
(b) Consumer Movement 

Acts 

(c) Tamilnadu Consumer 

(d) The Monopolies and Restrictive 
Trade Practices Act 

Protection Rules 

(A) 3 
(a) (b) 

(B) 4 

(E) 

(C) 2 
(D) 3 

(E) 

4 

(B) 4 

1 

(C) 2 

1 

(A) 3 4 

(D) 3 

CCSE2-2AT/2025 

Answer not known 

(c) 

(a) (b) (c) 

2 

3 

1 

sflure Lu dun53516 : 

1 

3 

(a) silprO FstGat0 UngJsmÜys sLÖ 
(b) GsGaumt Qsb 

1 

2 

(d) 

2 

3 

1 

2 

2 
4 

4 

(d) 
1 

2 

4 

4 

94 

1. 

2. 

4. 

1. 

3. 1986 

2. 

3. 

Year 

4. 

1969 

1988 

1974 

1969 

1988 

1986 

1974 

V 

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


159. Arrange the following states with respect to their Niti Aayog SDG 

India Index 2023-24 rankings 

(1) 

(2) 

(3) Kerala 

Tamil Nadu 

(4) Goa 

Uttarakhand 

(A) (1), (3), (2), (4) 

B) (1), (2), (4), (3) 

(C) (2), (3), (1), (4) 
(D) (2), (1), (3), (4) 
(E) Answer not known 

BA Guréâa SDG Abut 66usG 2023-24 sratosiLI4 Sraugib 
LDmßlarJ560aT auflensÜUQ$5I5. 

(2) 

(1) siblýpT 

(3) 

(4) 

(A) (1), (3), (2), (4) 

(B) (1), (2), (4), (3) 

(C) (2), (3), (1), (4) 
(D) (2), (1), (3), (4) 
(E) elL QgluolbnN 
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160. The TamilNadu Government implemented Kalaingar Magalir 
Urimai Thogai Scheme for the Welfare of Women. Which of the 
following is/are the rationale for the scheme 

(i) Gender disparity in annual income according to the Global 
Gender Gap Report 2023 

(1) Changing the poor social status of women 
(iii) Upliftment of rural women 

(iv) Recognize the countless hours of silent work put in by women 

(A) ) and (ii) only 

(B) (i) and (iv) only 
(C) () and (ii) only 
(D) ) and (iv) only 

(E) 

i) 

(i) 

Answer not known 

(A) )) LoDgD (11) DLQD 

(B) () LDØgb (iv) DLGD 
(C) ) oDgb (11) DLGLD 

(D) ) DDpo (iv) wLGD 
(E) 
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161. The objectives of National Agricultural Market (e-NAM) portal is to 

) Create a unified national virtual market for agricultural 
commodities. 

(i) Aid farmers in getting better prices. 

(üi) Provide marketing options to the farmers. 

(A) ) and (ii) only 

(B) () and (ii) only 

(C) ) and (ii) only 

(D) ), (i) and (ii) 

(E) Answer not known 

Ggflu alaJsmu` FBns (e-NAM) naTLI (psUlkar Gr`sb. 

(1i) alasmuls(a5`(G FBMGÜL6s5d ulsoar aupriGSÜ 

(A) i) LoÓID (1) oLQD 

(B) (ii) LoÓMD (ii1) DLQD 

(C) () DDMLb (11) LoLQb 

(D) ), (ii) LDÝDLD (ii) 

(E) aL Qglualkba 
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162. The objectives of National Skill Development Council is / are 

i) 

(ii) 

To empower women through economic independence 

(ii) To provide monetary awards for skill certification to boost 
employability 

To Organise Training Programmes for youths for skill 
development across the country 

(iv) To boost the productivity of the country's workforce 

(A) ), (i) and (i) 
(B) (ü), (ii) and (iv) 

(D) 
(C) ) and (ii) only 

() 

) only 
(E) Answer not known 

(A) (), (ii) oDgD (iii) 
(B) (ü), (ii) obpb (iv) 

(C) ) DØgD (i) DLQb 
(D) (i) LDL GLD 

(E) flnL QgflualwN 
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163. The ceiling limit 

48 hours of the roadside accidents under �Nammai Kaakum-48* 

scheme is Rs. 

(A) 1.00 lakh 

(C) 2.50 lakh 

(E) Answer not known 

(A) 1.00 eLFD 

(C) 2.50 60s� 

(E) lL QsflulaNN 

(A) Chepauk 

per individual for cashless treatment for the first 

(C) Kilambakkam 

(E) Answer not known 

(A) GæUT`SD 

(C) 

164. The Central Institute of Classical Tamil (CICT) is functioning in its 

own new dedicated premises from 2022 onwards in 

(E) 

T ITLD LIT`SESD 

L Qgflusl áb en a) 

CCSE2-2ATI2025 

(B) 2.00 lakh 

(D) 3.00 lakh 

99 

(B) 2.00 LFD 

(D) 3.00 aLED 

(B) Mysore 
(D) Perumbakkam. 

(B) DLDG0 

48 Deafl 

(D) QuGDUT`SID 
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165. Match the following : 

(a) Symbol of wooing 
(b) Symbol of love 

(c) Crow a good harbinger 
(d) Pandil game mentioned in 

(A) 3 

(B) 2 

(a) (b) 

(C) 4 
(D) 1 

(a) 

(b) 

(a) 

(B) 2 

(E) 

4 

(E) Answer not known 

(C) 4 

4 

(D) 1 

2 

4 

(d) ueTI�.6) GflanaITL 

(A) 3 4 

CCSE2-2AT/2025 

(GlÜLÜULQTGTS| 

(c) 

TL9 cßT oGTLD 

1 

1 

5Jay G505lcir lereTLD 

4 

(b) (c) 

2 

4 

1 

1 

(d) 

1 

3 

2 

3 

(d) 
2 

3 

3 

2 

100 

1. Kuruntogai 
2. Leaf of the Asoka tree 

3. Natrinai 

4. White Lilly 

1 

2. 

3. 

4. 

bDDlnEOT 
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166. Which of the following is incorrectly paired? 

(1) Gopala Nayak 

6) Dhoondaji Wagh 

Gii) Marudhupandyas 

(iv) Pulithevan 

(A) ) and (ii) only 

(B) (ii) and (ii) only 

(C) (ii) and (iv) only 

(D) (iv) only 

(E) Answer not known 

(iv) yalsGsaJi 

(A) ) o�DLD (11) DLQID 

(B) (i) DgIb (1i) LGD 

(() () obgLD (iv) DLQD 

(D) (iv) wLQD 

(E) afleL Qgflualábna 

CCSE2-2ATI2025 

Dindugal 

Madurai 

Ettayapuram 

Nerkattanseval 

6TLLWYJD 
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167. Whose duties are implicity taught in Thirukkural? 

(A) Men 

(B) Women 

(C) Citizens 

(D) The King 

(E) 

(A) 

(B) 

(C) 

(D) 

Answer not known 

LDBGeflt 

(E) eflL Qsflwclana 
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168. 
What according Valluvar is actually possessed by the people who are 

called as possessors? 

(A) Motivated 

(B) Heroic 

(0) Wealthy 

(D) Educated 

(E) Answer not known 

(A) 

(C) QFoJLD 26NL Gumt 

.(E) 
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169, Match the following 
(a) Thalai sanga pulavanar 

(b) Akan podhiyil Thirumunivan 
Tamil sangam 

thammul 

(c) Koodalinaintha ondeen Tamil 
(d) Madurai Thokaiyakkinan 

(A) 2 3 
(a) (b) 

(B) 3 
(C) 1 

(E) 
(D) 2 

(a) 
(A) 2 

(E) 

(C) 1 

4 

(D) 2 

1 

(B) 3 4 

Answer not known 

CCSE2-2AT/2025 

(c) 

(b) Ear aumguo spaflawdr 

1 

3 

4 

1 

4 

(b) (c) 
1 

2 

(d) 

4 

4 

4 

1 

2 

(d) 
4 

2 

3 

104 

1. 

2. Chekilar 

3. 

4. 

1. 

2. 

3. 

Kambar 

4. 

Thirugana Sambandar 

Manikkavasakar 

sLDLI0 
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170. The diameter of a sphere is 8 cm. It is melted and drawn into a wire 

of diameter 3 mm. The length of the wire is 

(A) 36.9 mn 

(C) 

(E) 

(A) 

(C) 

(E) 

8 Qs.� olLetrarr GsmGTLDITGTSÊ 2(h5æULO 3 L6.Â lLLpTerT 5Dwns 

38.9 m 

(E) 

Answer not known 

(A) Rs. 4,014 

(A) 

36.9 8 

(C) Rs. 9,210 

(C) 

38.9 8 

171. A sum of money becomes Rs. 13,380 after 3 years and Rs. 20,070 

after 6 years on compound interest. Find the sum 

(E) 

Answer not known 

5. 4,014 

(B) 37.9 m 

pG (5. 13,380 5OD, B ,T G5(GHH (I 9pg 5. 20,070 ,sAJD 

5. 9,210 

(D) 39.9 m 

CCSE2-2AT/20025 
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(B) 37.9 8 

(D) 39.9 16 

(B) Rs. 8,460 

(D) Rs. 8,920 

(B) 5. 8,460 

(D) 5. 8,920 
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172. A, B and C start at the same direction to run around a circular 

stadium. A completes a round in 252 seconds. B in 308 seconds and 

C in 198 seconds, all starting at the same point. After what time will 

they meet again at the starting point? 

(A) 

(B) 

(C) 

(D) 

(E) 

(A) 

(B) 

(C) 

(D) 

26 minutes 18 seconds 

A, B DÖDJD C GLimt G ensul asTL `Jfl R5 JLL QlqaJDTT 

AJÉGHn5 P oop sDpl ag A olbG 252 afleatTIq s(65 LD B o 308 

laTg(G5LD 'C olo 198 olomIq.85(GT5 LDlp6oT GTflG tsaT TIBS 

(E) 

45 minutes 

46 minutes 12 seconds 

42 minutes 36 seconds 

Answer not known 

26 fLbLT`IB�T 18 lq.6T 

45 fLlLáiSÓT 

46 6LLI`JS�T 12 oflorTig.5 GT 

42 Bublr`JES�T 36 GlTIg.E5dT 
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173. Find the next term. 

64, 32, 48, 120, 420, 

(A) 
(C) 
(E) Answer not known 

(A) 

64, 32, 48, 120, 420, 

(C) 
(E) 

1260 

1686 

(A) 

1260 

1686 

(C) 

174. Directions : Based on the digit-alphabets-symbols series given 
below, answer the following. 

(E) 

(C) Three 

How many numbers are there in the series which.are preceded by a 

vOwel and succeeded by a consonant? 

Two 

(E) Answer not known 

(A) Gior G 

(B) 1890 

eLpcöI) 

(D) 2318 

COSE2-2ATI2025 

(B) 1890 

(D) 2318 

@18HLI6K*&?UE 

QsnQsÜULQGrGT. Qwasri5dT-6T(L9SSI`SAT-GpluiGsaT 

QsmLflaSl(5b5) þássmgLD lornopG olnLwaflisab, 

107 

(B) Four 

(D) One 

@18HLI6K*&?UE 

(B) BreTS 
(D) pg 
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175. There are 9 color boxes Red, Black, White, Green, Yellow, Blue, 
Orange, Violet, Pink but not necessarily in same order. Only 5 boxes 
placed between Red and White. Yellow is placed immediate above 
White. Only three boxes are placed between Yellow and Green. 
As many boxes placed between Red and Green as between Black and 
Yellow. Blue is placed below black but not at bottom. More than 

4 boxes are placed between Yellow and Blue one box is placed 
between blue and orange. Pink box is placed above Violet. Which box 
is placed immediate above and immediate below Black? 
(A) Pink and Green 

(B) Pink and Violet 
(C) Green and Blue 

(D) Pink and Orange 
(E) Answer not known 

RGSTLISI GJGÖTT 68T GULq5T lay, (5Ü4, GlautGnaT, u`GOE, D(`HSGT, OD, 

606JGSLÚULGGTGrT5). 

9ißlebn a). 

(A) arráslouY LDDgD LI`GNE 

(C) 
(B) aGslasLy obgb a5T 

QuLig BUQuLiqdiGÜ 

(E) 
(D) ar�sAlouULY LoDgLD BIGHEF 

GflenL dsflwolcbne 
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176. If 

(A) 

(B) 

’ stands for 'addition'. 
+ stands for 'subtraction'. 
‘ stands for 'division'. 
J stands for 'multiplication', 

7 stands for 'equal to' then which of the following alternatives 1s 
correct? 

7 43 ‘ 6J17 4 

3L6‘2’367 5 
(C) 

(D) 2 56 ’ 27 6 

(E) Answer not known 

(E) 

5 ’7¢3‘2 4 

’ arsóTL5I hLGnOyib, 

GT6�TLISI GuGBSONyb, 

(A) 7 43 ‘ 6 1 4 

(B) 3 6T234-67 5 

(C) 5 ’7+3T2/ 4 

(D) 25-6 ’ 2/ 6 

lL Qgflueláben) 
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177. One of the following is a mismatch : 

(1) Down's Syndrome 

(2) 

(3) 

(4) 

() 

(A) (3) only 

Haemophilia 

(3) 

Klinefelter Syndrome 

(E) Answer not known 

(4) 

Turner Syndrome 

(1) Layasil or (60DuTLO Gr 

(A) 

(2) afGiom96Slun 

() 

(2) only 

(3) DLQU 

(2) DLQb 

(E) slL QsflwelbwN 

CCSE2-2AT/2025 110 

Autosomal trisomy of 

21st chromosome 

Sex Linked 

X0 Complement 

Female with retarded 

growth 

(B) (1) and (3) only 

(D) (1) and (2) only 

21 augi 5GynGonGsmLál) 

X0 slwa 

(B) (1) oDgD (3) LDLQD 

(D) (1). Dgb (2) DL Qb 
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8. Match the following List I with List I 178. SDGs (Sustainable 

Development Goals) : 
List I 

(a) SDG6 

(b) SDG 11 

(c) SDG 14 

(d) SDG 15 

(a) b) 
(A) 3 

(B) 4 
(C) 1 
(D) 3 

4 

3 

4 

ULQWG) I 

(A) 3 

(c) 

(a) slnUTeST GJGrtaal 

1 

(E) Answer not known 

(b) Ban)UTGT QJGrital 

2 

4 

(B) 4 3 

COSE2-2ATI2025 

4 

(a) BenJTOT QLOr ital 

(C) 1 3 

2 

(a) (b) (c) 

(D) 3 4 

2 

4 

2 

(E) SoL QflwGln 

1 

2 

3. 

4. 

(a) 

(c) BlnaDITT QLrrÍtSÉl Q`6 - 14 

2 

1 

2 

1 

List II 

(d) 

Life on Land 

sG - 6 

2 

Life Below Water 

aG - 11 

1 

Clean Water and Sanitation 

2 

Sustainable Cities and Communities 

vaG - l5 

111 

1. 

3. 

4. 

ULQwG) II 
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179, Which of the following statement(s) about the Din-i-Ilahi islare 

180. 

COrrect? 

(A) The number of the followers of the Din-i-Ilahi was large 
(B) It is a state religion 
(C) To establish a national religion which would be acceptable 

the Muslims and the Hindus 

(D) To expand its territories and gain control over the independent 
states 

(E) An 

(C) 

(D) Gssri50aT 

(E) 

Answer not known 

oilenL Qsflusloa 

Committed Sati. 

(A) Anbil Plate 

(C) 

(C) Bahur Plate 
(E) 

plate exposed that the Chola Queen Vanamadevi 

Answer not known 

(A) yoT L9G) LLLWÓ 

(E) lDL Ggsflualbna 
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BTQsofioT 
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to 

(B) Tiruvalangadu Plate 
(D) Velvikudi Plate 

(B) GurrËJBTG U=LUD 

V 

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


181. Match the following : 

(a) Bharathiar 

h) Kavimani Desiga Vinayagam Pillai 2. 

(c) Bharathidasan 

(d) Ramalingam Pillai 

(a) (b) 

(A) 3 

(B) 4 
(C) 3 

(D) 2 

(a) unggunt 

(©) umyBgTE`I 

(A) 3 

2 

(B) 4 

4 

(E) Answer not known 

(C) 3 

(E) 
(D) 2 

(d) QTDGSl ̀ J5LD 9orGnGTT 

COSE2-2ATI2025 

(a) (b) (c) 

2 

(c) 

3 

1 

4 

1 

3 

1 

4 

1 

1 

1 

4 

(d) 
4 

H 

2 

2 

1 

(d) 
4 

2 

2 

1 

113 

1. 

.2. 

3. 

1. 

4. 

3. 

4. 

Pandian Parisu 

Tamilan Ithayam 

Kannan Pattu 

Asia Jothi 
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l82. Match the Column (A) with Column (B) : 

(a) Judicial Activism 

Column (A) 
Theme 

(b) Ethical Governance (SARC) 
(c) Restatement of Values of 

Judicial life 
(d) Administrative Tribunal 

(A) 2 
(a) 

(B) 3 
(C) 1 

(E) 
(D) 4 

(A) 2 

(E) 

(b) () 

(B) 3 

1 

(C) 1 

4 

(D) 4 

2 

Answer not known 

(a) Bgp Qsupum 

3 

l 

(d) siraumsB $rÜuTLD 

CCSE2-2AT/2025 

ahsTL auflens (A) eLG Quflens (B) 
oufles (A) 

(a) (b) () 

(b) ED LDU) pas) (SARO) 

4 

2 

1 

1 

4 

2 

3 

4 

(d) 

2 

1 

3 

QsfluGlábena 

1 

4 

(a) 
3 

1 

4 

2 
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4: 

2. 

Column (B) 

4. 

Year 

1976 

1997 

1947 

2007 

auflens B) 

1976 

1997 

3." 1947 

2007 
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183. Choose the correct answer by using Reason R and Assertion [A]: 

Assertion (A|: The Constitution of India specifically mentions the 
power of Judicial review. 

Reason R] : 

(A) [AJ is true; but [R] is false 

(C) 

(B) Both |AJ and R] are true: and RI is the correct explanation 
of [A] 

The Judiciary has successfully expanded the scope 

[A] is false, [R] is true 

of [AJ 

of Judicial review over the yearS. 

(D) Both [A] and [R] are true: but [R] is not correct explanation 

abg (A]: 

(E) Answer not known 

SmJ6TD R: 

sflunear olarrÉs5LDábD 

COSE2-2ATI2025 
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Lo2. Fnd out which of the following pairs is not correctly matched? 

(A) 

(B) Unni Krishnan Case (1993) 

(C) Prakash Singh Case (2006) 

(D) M. Nagaraj Case (2006) 

(E) 

SR. Bommai Case (1994) 

(B) 

(A) S.R. aumbaND QUpas (1994) 

(D) 

Answer not known 

(E) 

(C) gsTGgrai agss (2006) 

e�Toill(ayeMT 6i aJpas (1993) 

M. BnsJng aupis (2006) 
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185. "No man shall be taken or imprisoned. disseized or outlawed, or 

exiled, or in any way destroyed save... by the law of the land". 

This famous clause is in... 

(A) 

(B) Universal Declaration of Human Rights 

Bill of Rights 

(C) Magna Carta 

(D) The Protection of Human Rights Act 1993 

(E) Answer not known 

QFUnUL GoJT, lopüu0sÜUL Goun, BTh5LÙUGaG5T, 

(A) fleoDB FLLD 

(B) 

(C) LDSITEITE6TLD 

(D) DGsils e_flenLDGO0T UM5)STÜL;` FLLO 1993 

(E) lL QgfluGln) 

CCSE2-2ATI2025 
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186. ASsertion [AJ 

Reason [R] 

(B) 

(A) Both [A] and [R] are not true 

HIV infection more often spreads due 
conscious behaviour patterns. 

(C) Both [A] and (R] are true, and R] is not the correct 

(B) 

(D) A] is true and [R] is false 

51JOTO R) 

(C) 

The infection of AIDS in blood transfusion 

patients may occur due to poor monitoring 

Both (A] and (R] are true, and (R] is the correct explanation 
of [A] 

(E) Answer not known 

explanation of [A] 

(E) 

CCSE2-2AT/2025 

(D) Dg AJ til, oDgb sTJ0TLD R saup 

Gprunsfls(absS 
CuomsLDrGT 5GÖOTSTGofl LILy snj60TLDTS JDULUTD. 

to 
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187. Assertion [A) 

Reason R] 

(A) AJ is true; R] is false 

(B) [A] is false; [R] is true 
(C) Both |A] and R] are true, and R] is the correct explanation 

of [A] 
(D) Both AJ and RI are true, and R] is not the correct 

explanation of [A] 

nbp [A] 

Women's empowerment is a cornerstone O 
SOC1al justice. Initiatives such as working 
Women hostels, creches and women-specific 

Skilling programmes aim to enhance women's 

participation in the work force. 

(E) Answer not known 

STJO0T LD R] 

Removing barriers to women's participation in 
the economy, the Government is fostering a 
more inclusive and dynamic work force. 

(C) 

(D) 

(B) g 
5/TJ6NTLD RÊ sfl 

(E) 

COSE2-2ATI2025 

(pupslscT LJofl GlsmGfuM GuaTsofle�r LuIthisaflLiU 
GoLDuG 5JAJGNS GBT`SSLDITG# GsmaoTGGrAreNT. 

A| ̀ 5ITGT EfUmoT 
GSloT`SLDÁ)A) 
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188. Tax Incentives for startup companies for a period of three years 

have been introduced in the 

(A) Finance Act, 2016 

(B) September 25, 2014 

(C) November 4, 2011 

(D) Finance Act, 2014 

(E) 

(A) 

(B) 

Answer not known 

Bs sLLb, 2016 

(E) 

QoiLLOLut 25, 2014 

(C) BaJiDut 4, 2011 

(D) B& sLLD, 2014 
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o0 The major renewable energy source in Tamil Nadu 

(A) 

(B) 

(C) Oil and Gas 

(D) Nuclear power 

Windmill 

(E) Answer not known 

(B) 

Coal 

(A) 65ÖDTDa 

(C) 

(D) 

(E) 

COSE2-2ATI2025 
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190. Which of the following is incorrectly paired 

(1) Coimbatore 

(2) Madurai 

(3) Namakkal 

(A) (1) and (4) 

(B) (1) and (2) 

(4) Thanjavur - Egg city 

(C) (2) and (3) 

(D) 

(E) 

(1) 

(2) 

(4) 

(3) BTLDGSÁ 

(A) 

(B) 

(C) 

(3) and (4) 

(E) 

(1) wDgD (4) 

Answer not known 

(1) obgb (2) 

(2) DDDD (3) 1oDgb 
(D) (3) obg (4) wpgu 

Manchester of South India 

- Cultural capital of Tamil Nadu 

CCSE2-2AT/2025 
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191. Choose the right matches among type : 
(1) 

(2) Thirumukkudal Inscription 

(3) Tiruvalangadu Plates 

(4) Uthiramnerur Inscription 

(A) 

(B). 

(C) 

Kaverippakkam Inscription 

(1) 

(D) (1), (2) and (3) are correct 

(3) 

(E) Answer not known 

(4) 

sflunr umGBsBDGT GsitBQs0isa|D. 

(A) 

(1) and (2) are correct 

(B) 

(3) and (4) are correct 

(2), (3) and (4) are correct 

(E) 

(1) Lob (2) sfl 

(3) oDDÓ (4) DDDb 

(C) (2), (3) DDmLb (4) sfl 

sfi 

(D) (1), (2) LoDDb (3) efl 

CCSE2-2AT/2025 
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192. Identify the party which started Anti-Non Cooperation League in 

Madras Presidency. 

(A) Swatantra Party 

(B) Justice Party 

(C) Communist Party 

D) Indian National Congress 

(E) Answer not known 

(A) ssbâgT 5L 

(B) ssLA 

(C) 5Dysflav 5LA 

(D) b£u Gzêlu 5TBIÀlJG0) 

(E) oflenL Qsfluelábana 

CCSE2-2ATI2025 
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193. Find out the correct statement : 
(1) Thirukkural was translated in Hindi- Appathetsithar 
(2) 

(3) Thirukkural starts with alphabet ' (Aa) and end with 'ar (Na) 
(4) Friendship has 13 chapters 

Thirukkural was translated in German - Arial 

(A) (1) only 

(B) (1), (3) only 

(C) (1), (4) only 

(D) (2), (4) only 

(E) Answer not known 

sfilunT SoDploGAs sGÐT L Dls. 

(1) GiGDDT SBAuso QuomQuutagat -HÜunßLAz0 

(2) `GDNAT Ggtvsfláo Q1omGuutBgaut - gflua 

(3) 

(4) 

(A) (1) LDLQb 

(B) (1), (3) DLQD 

(C) (1), (4) LDLQD 

(D) (2), (4) wLGb 

(E) GlL Qflulána 

CCSE2-ATI2025 
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194. Assertion (AJ: �All opinions are here, There is nothing 

Reason R]: 

(B) 

(A) JA] is true but [R] is false 

that is not in it", 

Many of Thiruvalluvar's ideas were innovative and 

revolutionary compared to the prevailing policies of 
his time. 

[A] is false but [R] is true 

(C) Both [A] and R] are true, [B] is the correct explanation of [A) 

(D) Both [A] and R] are true, and [RJ is not the correct 

S1J68TLDR] 

explanation of [A] 

(E) Answer not known 

(C) 

(A) AJ sfl, ,áo |R] $og 

Blwalu 

(B) A] sau, rná) R] sfl 

A] oDgD R] QyarGb sfl, LoDgD R] rLug) [A]aflps sflura 

CCSE2-2AT/2025 
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.06 Choose the right matches of the following places where Sangam 
period coins were found in Tamil Nadu. 

(1) Dharmapuri 

(2) 

(3) Erode 

Salem 

(4) Trichy 

(E) 

(A) (1) and (2) are correct 

(B) (2) and (3) are correct 

(2) 

(C) (3) and (4) are correct 

Answer not known 

(1) s0Dyfl 

(D) (2) and (4) are correct 

(3) Gm 

(4) GaÉl 

(A) (1) LoDgLD (2) sfl 

(B) (2) LDDgILD D (3) ef 

Thoppoor 

(C) (3) LoÓDID (4) tl 

Kanniyan Kuttai 

(0) (2) oDDLD (4) =tl 

Mukkombu 

(E) lL QsfluJlbna) 

Vembavoor 

CCSE2-2ATI2025 
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196. A borrows Rs, 16.000 at 12% p.a. simple interest and B borroWs 
Rs. 12,000 at 18% p.a. simple interest. In how many years will their 

amounts debt be equal? 

(A) 12 12% years 

(C) 16 

(B) 14 years 
3 

3 

2 

D) 18 years 

(E) Answer not known 

(A) 12 

5afl auLig uo, A GTGITLIQJId . 16,000 Qsren56 12% ,6oT uLga(5 SL�I 

auT`I Glprt. safi aLlqul, B 

(B) 14 

ELDIDITS Gi(GD? 

(C) 16 

3 

3 

years 

3 

2 
(D) 18a )sdr 

3 

(E) lcnL Qglwal nN 
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197. Two numbers are in the ratio of 15: 11. If their HCF is 13. Find the 
numbers. 

(A) 585 and 429 

(C) 390 and 286 

(E) Answer not known 

(A) 585 LDDMID 429 

(C) 390 LoDmD 286 

(E) L Qsflueflkbena) 

(A) 738 

(C) 902 

198. The least number of square tiles required to pave the ceiling of a 

(E) Answer not known 

room l5 m 17 cm long and 9 m 2 cm broad is 

(A) 738 

(C) 902 

(E) 

(B) 195 and 143 

GlenL sfwel6nD 

(D) 117 and 182 

CCSE2-2ATI2025 

(B) 195 DDDD 143 

15 8 17 Qs.L6 BaT (pLD 9 LB 2 Qs.L� 5NJD Gl5raiTL PG A0per saT`Og 
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(D) 117 DÖDD 182 

(B) 814 

(D) 656 

(B) 814 

(D) 656 
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199. P is elder than Q. R is elder than Q but younger than P. S is elder 

than P but younger than T. Who is the youngest? 

(A) R 

.(B) T 

(C) Q 

(D). S 

(E) Answer not known 

P acoTLIaut L fluaut. R oToTLIt 6n6 6 ufwaut A,aT0 

Pa lL Afluaut. S GreiTLJGut P aS aufluIQJt ra) T ol Apluaut. 

(A) R 

(B) T 

(C) Q 

(D) S 

(E) leoL Qsfilwaldn 
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200. If A’1, , B’2,C’3... Z ’ 26 

A+ B° +CA will not be equal to 

(A) VEX 

(B) S-G 

(C) (B) (E) 

(D) L 

(E) 

A’1, B’2, C’3...Z’ 26 T681` QsTGÑÝTL_ TT ) 

Answer not known 

AB + B° +CA GrTLug 

(A) VEX 

(B) S-G 

(C) (B) (E) 

(E) 

(D) L 

CCSE2-2ATI2025 
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